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Part I. Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic of On Life-
long Learning. You should write at least 120 words on the Answer Sheet 1 following the
outline given below in Chinese.

L BEEMSNRRE, KELTURBEE; :
2. AEZIFEMER;
3. BHYULRFLERE,

|Part Il. Reading Comprehension (Skimming and Scanning) (15 minutes)

Directions: In this part, you will have 15 minutes to go over the passage quickly and answer the ques-
tions on the Answer Sheet 2.

fFor questions 1-7, mark

Y (for YES) if the statement agrees with the information given in the passage;
N (for NO) if the statement contradicts the information given in the passage;
NG (for NOT GIVEN) _ if the information is not given in the passage.

For questions 8-10, complete the sentences with the information given in the passage.

If it weren’t for nicotine, people wouldn’t smoke tobacco. Why? Because of the more
than 4 000 chemicals in tobacco smoke, nicotine is the primary one that acts on the brain,

altering people’s moods, appetites and alertness in ways they find pleasant and beneficial.



Model Test 1

Unfortunately, as it is widely known, nicotine has a dark side: it is highly addictive. Once
smokers become hooked on it, they must get their fix of it regularly, sometimes several
dozen times a day. Cigarette smoke contains 43 known carcinogens, which means that
long-term smoking can amount to a death sentence. In the US alone, 420 000 Americans
die every year from tobacco-related illnesses.

Breaking nicotine addiction is not easy. Each year, nearly 35 million people make a
concerted effort to quit smoking. Sadly, less than 7 percent succeed in abstaining for more
than a year; most start smoking again within days. So what is nicotine and how does it in-
sinuate itself into the smoker’s brain and very being?

The nicotine found in tobacco is a potent drug and smokers, and even some sci-
entists say it offers certain benefits. One is enhance performance. One study found that
non-smokers given doses of nicotine typed about 5 percent faster than they did without
it. To greater or lesser degrees, users also say nicotine helps them to maintain concentra-
tion, reduce anxiety, relieve pain, and even dampen their appetites (thus helping in weight
control). Unfortunately, nicotine can also produce deleterious effects beyond addiction.
At high doses, as are achieved from tobacco products, it can cause high blood pressure,
distress in the respiratory and gastrointestinal systems and an increase in susceptibility to
seizures and hypothermia.

First isolated as a compound in 1828, in its pure form nicotine is a clear liquid that
turns brown when burned and smells like tobacco when exposed to air. It is found in
several species of plants, including tobacco and, perhaps surprisingly, in tomatoes, pota-
toes, and eggplant (though in extremely low quantities that are pharmacologically insig-
nificant for humans).

As simple as it looks, the cigarette is highly engineered nicotine delivery device. For
instance, when tobacco researchers found that much of the nicotine in a cigarette wasn’t
released when burned but rather remained chemically bound within the tobacco leaf, they
began adding substances such as ammonia to cigarette tobacco to release more nicotine.
Ammonia helps keep nicotine in its basic form, which is more readily vaporized by the
intense heat of the burning cigarette than the acidic form. Most cigarettes for sale in the
US today contain 10 milligrams or more of nicotine. By inhaling smoke from a lighted
cigarette, the average smoker takes 1 or 2 milligrams of vaporized nicotine per cigarette.
Today we know that only a miniscule amount of nicotine is needed to fuel addiction. Re-
search shows that manufacturers would have to cut nicotine levels in a typical cigarette by
95% to forestall its power to addict. When a smoker puffs on a lighted cigarette, smoke,
including vaporized nicotine, is drawn into the mouth. The skin and lining of the mouth
immediately absorb some nicotine, but the remainder flows straight down into the lungs,
where it easily diffuses into the blood vessels lining the lung walls. The blood vessels carry
the nicotine to the heart, which then pumps it directly to the brain. While most of the
effects a smoker seeks occur in the brain, the heart takes a hit as well. Studies have
shown that a smoker’s first cigarette of the day can increase his or her heart rate by 10 to
20 beats a minute. Scientists have found that a smoked substance reaches the brain more

quickly than one swallowed, snorted (such as cocaine powder) or even injected. Indeed, a
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nicotine molecule inhaled in smoke will reach the brain within 10 seconds. The nicotine
travels through blood vessels, which branch out into capillaries within the brain.

Capillaries normally carry nutrients but they readily accommodate nicotine molecules
as well. Once inside the brain, nicotine, like most addictive drugs, triggers the release of
chemicals associated with euphoria and pleasure.

Just as it moves rapidly from the lungs into the bloodstream, nicotine also easily
diffuses through capillary walls. It then migrates to the spaces surrounding neurones —
ganglion cells that transmit nerve impulses throughout the nervous system. These im-
pulses are the basis for our thoughts, feelings, and moods. To transmit nerve 1mpulses to
its neighbor, a neurone releases chemical messengers known as neurotransmitters. Like
nicotine molecules, the neurotransmitters drift into the so-called synaptic space between
neurones, ready to latch onto the receiving neurone and thus deliver a chemical “message”
that triggers an electrical impulse.

The neurotransmitters bind onto receptors on the surface of the recipient neurone.
This opens channels in the cell surface through which enter ions, or charged atoms, of
sodium. This generates a current across the membrane of the receiving cell, which com-
pletes delivery of the “message”. An accomplished mimic, nicotine competes with the neu-
rotransmitters to bind to the receptors. It wins and, like the vanquished chemical, opens
ion channels that let sodium ions into the cell. But there’s a lot more nicotine around than
the original transmitter, so a much larger current spreads across the membrane. This
bigger current causes increased electrical impulses to travel along certain neurones. With
repeated smoking, the neurones adapt to this increased electrical activity, and the smoker

becomes dependent on the nicotine.

Questions:

1. In the tobacco smoke, nicotine is the primary chemical that acts on the brain in ways
people find pleasant, but at the same time it is highly addictive. .

2. According to the passage, more than 5 million people succeed in quitting smoking
each year.

3. Nicotine is a potent drug, doing some good but no harm to people’s physical health.

s

People can find nicotine in several species of plants, including tobacco, tomatoes and
potatoes.

Ammonia added to cigarettes helps to remain more nicotine.

When people smoke, nicotine can only be absorbed by the mouth little by little.
Injected substances reach the brain faster than smoked substances.

A nicotine molecule inhgled in smoke will reach the brain within

L 2w

Once inside the brain, nicotine, like most addictive drugs, triggers

10.  With repeated smoking, the neurons adapt to the increased electrical activity, and the

smoker becomes




Part Ill. Listening Comprehension (35 minutes)

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of
each conversation, one or more questions will be asked about what was said. Both the con-
versations and the questions will be spoken only once. After each question there will be a
pause. During the pause, you must read the four choices marked A, B, C and D, and decide
which is the best answer. Then write the corresponding letter on the Answer Sheet 2.
11. He will visit someone next week.
He is the last person to see Johnson.
He is eager to see Johnson.
. He dislikes Johnson;

S (W P

12. She will go with the man.
She hasn’t any interest in the movie.

She wants to see the film alone.

SOz PP

. She will not see the film this evening.

13. Husband and wife.
Friends.

Student and librarian.

0w >

. Customer and waitress.
14. In the library.

In the shop.

In the lab.

. In the restaurant.

¥ 0O W =

15. It takes about two weeks to repair the car.
The man should have saved more money.

It is a good idea to keep the old car.

2 Q8

The car is no longer worth repairing.
16. To go to the snack bar with her.
To buy a paper for him.

To buy some food in the snack bar.

oo

To bring a cup of coffee for him.



18.
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Anyone can do it.

No one can do it.
Alex can do it.

Alex can’t do it.

He is happy with it.
He is angry about it.
He doesn’t think it matter.

He wants the woman to buy a new one.

CQuestions 19 to 22 are based on the conversation you have just heaﬁl

19.

20.

2L

22.

v O#Ep

oo =»
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Student and student.
Student and Professor.
Applicant and clerk.

. Colleagues.

Professor. Smith.
To write a letter to the university.

Internet.

. A,Band C.

To send her some catalogs.
To go on line with her.

To write to her.

. To write a letter of recommendation.

This afternoon.
“Tomorrow afternoon.

Tomorrow morning.

. This morning.

CQuestions 23 to 25 are based on the conversation you have just heard.

23,

24,

Uowp

¥ >

Lawyer and client.
Receptionist and patient.
Doctor and patient.

Doctor and nurse.

In this stomach.
In his liver.
In his chest.



D. In his throat.

A
B.
C.
D:

25. Go to see the doctor in the afternoon.
Go to see the doctor at 9:30 tomorrow morning.
Go to see the doctor at once.

Go to see the doctor after 10.

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some
questions. Both the passages and the questions will be spoken only once. After you hear a ques-
tion, you must choose the best answer from the four choices marked A, B, C and D. Then write
the corresponding letter on the Answer Sheet 2.

Questions 26 to 28 are based on the passage you have just heard. ]

26. A. French people. B. British people.
C. German people. D. Italian people.

27. A. It took Americans 10 years to complete the great statue.
B. The actual figure was made of copper.
C. The statue was 150 feet tall.
D. The statue had never been transported.

28. A. By 1884. B. By 1885.
C. In 1886. D. By the end of 1896.

” eons 29 to 31 are based on the passage you have just heard.

29. A. Supply good food and housing to the students.
B. Provide computers for all the students.
C. Supply enough books to the students for studying.
D. Provide the students with huge libraries.

30. A. Eighty-nine percent. B. Ninety-eight percent.
C. Thirty-five percent. D. Eighty-five percent.
31. A. In their living areas. B. In the school’s huge library.

C. In their classrooms. D. In large rooms.



Questlon320 35 are based on the passage you have just heard. I

Directions:

32.

33.

34.

39

A. Visiting friends.
B. Taking pictures.

C. Buying presents.
D. All of the above.

A. A shirt. B. An alarm clock.
C. A woolen blanket. D. A suitcase.

A. Because he forgot one of his suitcases.
B. Because he was asked to get off.
C. Because he wanted to go out to smoke.

D. Because he had lost his passport.

A. Alarm clocks are not allowed on board a plane.

B. The man had a time bomb in his suitcase.

C. The ticking noise of the alarm clock caused him a little trouble.
D. The airline official and the police officer played a joke on him.

In this section, you will hear a passage three times. When the passage is read for the first
time, you should listen carefully for its general idea. When the passage is read for the sec-
ond time, you are required to fill in the blanks numbered from 36 to 43 with the exact
words you have just heard. For blanks numbered from 44 to 46 you are required to fill in

the missing information. For these blanks, you can either use the exact words you have just

heard or write down the main points in your own words. Finally, when the passage is read

for the third time, you should check what you have written.

Today, there are 20 megacities ( B /7. A HAYAIRT ) around the world — 36 of
them in developing nations like India. By 2015, the United Nations says there will be at
least 22 megacities, 37 five percent of the 38 population.

Employment and educational opportunities are the main 39 of urban cen-
ters. But hopes for a better life are often dashed as 40 puts a huge strain on cities’
infrastructures ( ZAii% % ) and their ability to provide basic 41 —like clean water
and a 42 place to live.

Many rural migrants who come to Bombay fail to find 43 work,

44 . The World Bank says 54 percent of Bombay’s 15 million residents live in

slums.



The problem of migration-creating-slums shared by India’s other two megacities,
Delhi and Calcutta, 45 . The problem is pressing, 46

Part IV. Reading Comprehension (Reading in Depth) (25 minutes)

Directions: In this section, there is a passage with 10 blanks. You are required to select one word for each
blank from a list of choices given in a word bank following the passage. Read the passage
through carefully before making your choices. Each choice in the bank is identified by a letter.
Please write the corresponding letter for each item on the Answer Sheet 2. You may not

use any of the words in the bank more than once.

! ' Questions 47 to 56 are based on the following passage. J

There are two factors which ___ 47 __ an individual’s intelligence. The first is the sort of
brain he is born with. Human brains differ ___48 , some being more capable than others.
But no matter how good a brain he has to begin with, an individual will have a low order
of intelligence unless he has opportunities to learn. So the second factor is what happens
to the individual — the sort of environment in which he is brought up. If an individual is
handicapped (S2PA#8) 49 ,itis__ 50 that his brain will fail to develop and he
will never 51 the level of intelligence which he is capable.

The importance of environment in determining an individual’s intelligence can be
demonstrated by the case history of the __52 twins, Peter and John. When the twins
were three months old, their parents died, and they were placedin __ 53 fostered (&

% 9) homes. Peter was ___ 54 by parents of low intelligence in an isolated community
with poor educational opportunities. John, however, was educated in the home of well-to-

do parents who had been to college. This environmental difference continued until the

twins were in their late teens, when they were given tests to 55 their intelligence.
John's IQ (%) was 125, 25 points higher than the 56 and fully 40 points higher
than his twin brother.
A. average ' B. define C. measure D. likely
E. similar F. considerably G. identical H. attain
L. reared J. environmentally K. separate L. maximum
- M. occasionally N. abandoned O. determine




Directions: There are 2 passages in this section. Each passage is followed by some questions or un-

finished statements. For each of them there are four choices marked A, B, C and D. You

should decide on the best choice and write the corresponding letter on the Answer Sheet 2.

Questions 57 to 61 are based on the following passage.

57.

58.

In order to host the Olympics, a city must submit a proposal to the IOC. After all
proposals have been submitted, the IOC votes. If no city is successful in gaining a major-
ity in the first vote, the city with the fewest votes is eliminated, and voting continues, with
successive rounds, until a majority winner is determined. Typically the Games are award-
ed several years in advance, allowing the winning city time to prepare for the Games. In
selecting the site of the Olympic Games, the IOC considers a number of factors, chief
among them which city has, or promises to build, the best facilities, and which organiz-
ing committee seems most likely to stage the Games effectively. The IOC also considers
which parts of the world have not yet hosted the Games. For instance, Tokyo, the host of
the 1964 Summer Games, and Mexico City, the host of the 1968 Summer Games, were
chosen partly to popularize the Olympic movement in Asia and in Latin America. Because
of the growing importance of television worldwide, the IOC in recent years has also taken
into account the host city’s time zone. Whenever the Games take place in the United
States or Canada, for example, American television networks are willing to pay signifi-
cantly higher amounts for television rights because they can broadcast popular events live,
in prime viewing hours.

Once the Games have been awarded, it is the responsibility of the local organizing
committee — not the IOC or the NOC of the host city’s country — to finance them. This
is often done with a portion of the Olympic television revenues and with corporate spon-
sorships, ticket sales, and other smaller revenue sources, such as commemorative postage
stamps or proceeds from a national lottery. In many cases there is also direct government
support. Although many cities have achieved a financial profit by hosting the Games, the
Olympics can be financially risky. When the proceeds from the Games were less than ex-
pected, the city was left with large debts.

What does “eliminated” (Line 3, Para.1) mean in the sentence?

A. included B. excluded C. promoted  D. encouraged

How will a city win the host of Olympics during voting?
A. By gaining the majority of votes.

B. By gaining a majority in the first vote.

C. By getting the support of IOC.

D. By getting the financial support of his country.
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59,

60.

61.

Which of the following factors is not considered by the IOC when selecting the host city?
A. The facilities of the city.

B. The competence of NOC of the city’s country.

C. The location of the city.

D. The climate of the city.

Once the Games have been awarded, who is responsible for financing them?
A. The World Bank.

B.IOC.

C. The local organizing committee.

D. NOC of the city’s country.

What can be implied in the passage?

A. The Olympic Games are awarded a few years in advance.

B. Normally the host cities will not get direct government support.
C. Not all the host cities can achieve a financial profit.

D. Ticket sales are the main financial source of the Olympics.

uestlons 62 to 66 are based on the following passage. ]

62.

Normally a student must attend a certain number of courses in order to graduate, and
each course which he attends gives him a credit which he may count towards a degree. “In
many American universities the total work for a degree consists of thirty-six courses each
lasting for one semester.” A typical course consists of three classes per week for weeks;
while attending a university a student will probably attend four or five courses during each
semester. Normally a student would expect to take four years attending two degrees over a
longer period. It is also possible for a student to move between one university and another
during his degree course, though this is not in fact done as a regular practice.

For every course that he follows a student is given a grade, which is recorded, and
the record is available for the student to show to prospective employers. All this imposes
a constant pressure and strain of work, but in spite of this some students still find time
for great activity in student affairs. Electrons to positions in student organizations arouse
much enthusiasm. The effective work of maintaining discipline is usually performed by
students who advise the academic authorities. Any student who is thought to have broken
the rules, for example, by cheating has to appear before a student court. With the enor-
mous numbers of students, the operation of the system does not involve a certain amount
of activity. A student who has held one of these positions of authority is much respected

and it will be of benefit to him later in his career.

Normally a student would take courses in order to graduate.
A.36 B. 20 G5 D.12
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63. According to the passage, which of the following statements is NOT true?

A. Students expect to take four years attending two degrees.

B. Students are allowed to take a particular course in a different university.

C. In fact, many students like to take a particular course in a different university.

D. Some students are heavily involved in student affairs,

64. What does “prospective”(Line 2 , Para.2) mean?
C. Greedy.

A. Wealthy. B. Strict.

65. If a student breaks the rules, what will happen?

A. He will be criticized by teachers.
B. He will be criticized by himself,
C. He will be criticized by his parents.

D. He will have to appear before a student court.

D. Future.

66. According to the passage, what will be of great benefit to students in their future career?

A. Having a good academic record.

B. Holding a position in student organizations.

C. Having a good family background.
D. A and B.

| Part V. Cloze (15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked

A, B, C, and D on the right side of the Paper. You should choose the ONE that best fits into

the passage. Then write the corresponding letter on the Answer Sheet 2.

The horse and carriage is a thing of the
past, _67 love and marriage are still _ 68 us

and still closely interrelated. Most Ameri-

can marriages, particularly first marriages
69 young couples, are the result of
mutual attraction and __70  rather than

practical consideration.

In the United States, parents do not ar-
range marriages for their children. Teenagers be-
gin dating in high school and usually find mates
through their academic and social contacts.

71 young people feel _72  to choose

67

68.

69.

70.

71,

72;

. A and

C.or

A. from

C. with

A. involving
C. concerned
A. alternative
C. affection
A. Though
C. Now that
A. better

C. like

B. but

D. for

B. about

D. against

B. referring
D. related

B. assignment
D. assumption
B. Sdill

D. Because

B. free

D. good‘
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their friends from 73 groups, most choose 73. A. diverse B. familiar
mates of similar background. This is due 74 C. various D. definite
part to parental guidance. Parents cannot select 74. A. on B. by
mates for their children, but they can usually 75 C.in D. at
choices by voicing __76  of someone they con- 75. A.investigate  B. inflict
sider unsuitable. C. infect D. influence

However, marriages between members 76. A. disapproval  B. disagreement
of different groups (interclass, interfaith, and C. dissatisfaction D. discouragement
interracial marriages) are increasing, probably 77. A. minority B. mobility
because of the greater __77 _ of today’s youth C. multitude D. flexibility
and the fact that they are restricted by less 78. A. preserve B. pursue
prejudice than their parents. Many young peo- C. perform D. possess
ple leave their hometown to attend colleges, 79. A. Unless B. Until
serve in the armed forces, or 78  careers C. Once D. However
in bigger cities. __79  away from home 80. A. inside B. outside
and family, they are more likely to date and C. without D. within
marry _ 80 _ their own social groups. 81. A. all B. both

In mobile American society, interclass C. either D. neither
marriages are _ 81 _ rare nor shocking. Inter- 82. A.under B. above
faith marriages are __82 _ the rise particularly C.on D. beyond
between Protestants and Catholics. On the 83. A.uncommon  B. extraordinary
other hand, interracial marriages are still very C. ordinary D. normal
__83 . It can be difficult for interracial couples 84. A. maintain B. ensure
to find a place to live, _84 friendships, and - C.assure D. guarantee
—85 a family. Marriages between people of 85. A. restore B. reject
different national origin (but the same race C. retire D. raise
and religion) _ 86 commonplace here since 86. A. will have been B. had been
colonial times. C. has been D. have been

Translation (5 minutes)

Directions: Complete the following sentences on the Answer Sheet 2 by translating into English the
Chinese given in the brackets.

87. TR a 10t we can do. We must (R kB T HSTS
Z, FEEILERELK).




